Identify the Properties





Name: ___________________________

Match the property with its example.

_____ 1) 17 + 0 = 17


A) Commutative Property of Addition







B) Commutative Property of Multiplication 

_____ 2) – 8 + 8 = 0


C) Associative Property of Addition







D) Associative Property of Multiplication

_____ 3) 9 • 27 = 27 • 9


E) Additive Identity







F) Multiplicative Identity 




_____ 4) 
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G) Additive Inverse 







H) Multiplicative Inverse

_____ 5) 15 + 14 = 14 + 15

I) Multiplicative Property of Zero

_____ 6) 3a • 1 = 3a



_____ 7) 5(4 • 7) = (5 • 4)7
_____ 8) (14 + 29) + 11 = 14 + (29 + 11)

_____ 9) (7 + 28) + 13 = (28 + 7) + 13 

_____ 10) 11 • 0 = 0

_____ 11) 15 + (- 15) = 0

12) Give an example of the additive identity.

13) Give an example of the associative property of addition.

14) Does the commutative property work for subtraction? Why or Why not? (Show an example.)
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